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1. Jo 0,5 - - -
0,6-1,5 - - -
bonee 1,5 - - -

2. J0 0,5 - - -
0,6-1,5 - - -
Bonee 1,5 - - -

3. Ho 0,5 - - -
0,6-1,5 - - -
bonee 1,5 - - -

4, o 0,5 - - -
0,6-1,5 - - -
Bonee 1,5 - - -

3. 00,5 - - -
0,6-1,5 - - -
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6. Ho 0,5 - - -
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0,6-1,5 = - =
bonee 1,5 - c 2
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17. Jo 0,5 - =

0,6-1,5 % B
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8. 0 0,5 ) .
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19. Ho 0,5 - a
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20. Jo 0,5 - s
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bonee 1,5 - -
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bonee 1,5 - =

22. 0 0,5 - -

0,6-1,5 - B
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23. Jo 0,5 - N

0,6-1,5 - g

Bonee 1,5 - 8

24, 0 0.5 = -

0,6-1,5 E -

Gonee 1,5 4 s

2, Jo 0,5 - r

0,6-1,5 - .

bonee 1,5 - -

26. o 0,5 - z

0,6-1,5 - 3

Bonee 1,5 - -

o7, J10 0,5 > :

0,6-1,5 - -

Bonee 1,5 - -

28. Jo 0,5 - -

0,6-1,5 - A

Bonee 1,5 - -

29. JTo 0,5 . 7

0,6-1,5 - =

bonee 1,5 = :

30. Ho 0,5 = o

0,6-1,5 - -

Bonee 1,5 - -
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0,6-1,5 - =

bonee 1,5 - -
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